
Describe what the graph is showing in your own words [rephrase the title].
_______________________________________________________________________________
_______________________________________________________________________________
_______________________________________________________________________________
Compare the three highest points in the graph. 
_______________________________________________________________________________
_______________________________________________________________________________
_______________________________________________________________________________
Compare the three lowest points in the graph.
_______________________________________________________________________________
_______________________________________________________________________________
_______________________________________________________________________________
Compare government spending on the different types of public transport in Amsterdam.
_______________________________________________________________________________
_______________________________________________________________________________
_______________________________________________________________________________
Compare government spending on hire bikes in Amsterdam, Madrid and Munich.
_______________________________________________________________________________
_______________________________________________________________________________
_______________________________________________________________________________
Compare government spending on trams and the metro in Munich.
_______________________________________________________________________________
_______________________________________________________________________________
______________________________________________________________________________
GOVT. SPENDING ON PUBLIC TRANSPORT IN 2013 IN 3 CITIES
AMSTERDAM	HIRE BIKES	TRAMS	METRO	0.75000000000000011	2	3.2	MADRID	HIRE BIKES	TRAMS	METRO	1.5	3.5	4	MUNICH	HIRE BIKES	TRAMS	METRO	3	4	1.5	£££ - IN MILLIONS
